N = 0l & At & M A
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A0l X2t
HE: KA N L 2B 28
Cel: 2zl MBKH(SEESSNIATZALMELSA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ofl LA X1 2 54,960 0 54,960
NGRS g & &3 28 54,960 0 54,960
o= MENH(SHSSXNIANZANENSESA) 54,960 0 54,960
ZAFH KGR AY 54,960 0 54,960
308 XXIEHHSOIA 13,500 0 13,500
01 IXNHHBANEES 13,500 0 13,500
OFLXA NEAR EAAEY 13,500
403 A X EHHS K20l A 41,460 0 41,460
01 X HHMA=LE L 41,460 0 41,460

OZatx=8 02 X2 AL 41,460
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g 20/ BXE y=s 5=
Cel: otHE N E(SEESCNATZALMELSA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
=t 2tel 1,547,190 0 1,547,190
ge 20l Xl d=s8 =5 1,547,190 0 1,547,190
OHMS SN EZ(EESEXNINAANENSESA) 1,547,190 0 1,547,190
=22l XA 1,483,350 0 1,483,350
403 MtXISHHE X201 & 1,483,350 0 1,483,350
01 XM A=2EE 1,483,350 0 1,483,350
O==Xt&zte| X3 A 1,483,350
Aot=2xz2=2 X ALY 36,000 0 36,000
403 A X EHHS =0l A 36,000 0 36,000
01 X EHHMA=LE L 36,000 0 36,000
OXot+=E2x2=L EXAY 36,000
Aot &XE Aa=27 NBAL 10,600 0 10,600
403 Mt HHSA=0l& 10,600 0 10,600
01 HXHMA=LE X 10,600 0 10,600
OXlct &X3 =7 XA 10,600
Aot X ZI| & Ba3 X2 1,240 0 1,240
308 XXM SO0 A 1,240 0 1,240
01 IXNHHBNEES 1,240 0 1,240
OXlots &X3 &I &0 Baz N 1,240
0l Bl Bl 16,000 0 16,000
801 Gl BI8l 16,000 0 16,000
01 Btoldltl 16,000 0 16,000

Oaolgldl 16,000




